Available online at http://scik.org J. Math. Comput. Sci. 2 (2012), No. 1, 61-72 ISSN: 1927-5307

### A COINCIDENCE POINT RESULT BY USING ALTERING DISTANCE FUNCTION

# INDRANIL BHAUMIK\*, KRISHNAPADA DAS, NIKHILESH METIYA AND BINAYAK S. CHOUDHURY

Department of Mathematics, Bengal Engineering and Science University, Shibpur, Howrah-711103, West Bengal, India

Abstract. In this paper we have used altering distance function to find a coincidence point result and also used weak compatibility to find a common fixed point result. The salient feature of our theorem is that, it contains square root in the inequality. We have also deduced some consequences of our result and supported the result with examples.

**Keywords**: Contraction, Fixed point, Coincidence point, Altering distance function, Weakly compatible mappings.

2000 AMS Subject Classification: 47H17; 54H25

## 1. Introduction

Banach Contraction Principle [4] is one of the most beautiful and important results in modern mathematics which is widely applied in many other branches of science and technology. This concept has been generalized by many authors and is also an important

 $<sup>^{*}</sup>$ Corresponding author

E-mail addresses: ranaindra2006@yahoo.co.in (I. Bhaumik), kestapm@yahoo.co.in (K.P. Das), metiya.nikhilesh@gmail.com (N. Metiya), binayak12@yahoo.co.in (B.S. Choudhury)

Received November 30, 2011

topic of current day's research.

In 1984 Khan, Swaleh and Sessa [14] introduced a new type of contraction with the help of a control function which they called altering distance function. After this a lot of results appeared in the literature which dealt with altering distance function. Some of the results are noted in [2, 9, 15, 16, 17, 18, 19, 20] and [21]. Further, altering distance function has been generalized to two variables, three variables and four variables in [3], [5] and [6] respectively. This is also applied to get fixed point results for fuzzy mappings [7].

The commuting and weakly commuting conditions were introduced by Jungck [10] and Sessa [22] respectively. After that in 1986 Jungck [11] introduced the compatibility of mappings to generalize the commutativity and applied it to find common fixed point results. There are so many results with compatibility conditions and this concept was further generalized by many authors as seen in works like [8, 11] and [24].

In this paper we have used altering distance function to find a coincidence point result and also used weak compatibility to find a common fixed point result. As a consequence of Theorem 3.1, we get results due to Banach, Kanna, Skof etc. We also illustrate some examples in support of our result.

### 2. Mathematical Preliminaries

Here we have given some definitions, theorem and lemma which are required for the main theorem.

**Definition 2.1 (Fixed point** [4]): Let  $f : X \to X$  be a mapping, where  $(X, \rho)$  be a metric space. If fx = x, for some  $x \in X$ , x is called a fixed point of f.

**Definition 2.2 (Coincidence point** [11]): Let  $(X, \rho)$  be a metric space. Also let f and g be two self-maps on the set X, that is,  $f, g : X \longrightarrow X$ . If w = fx = gx, for some  $x \in X, x$  is called a coincidence point of f and g, w is called a point of coincidence of f and g.

**Definition 2.3 (Contraction** [4]): Let  $(X, \rho)$  be a metric space and  $f : X \to X$  a mapping. Then f is called a contraction if  $\rho(fx, fy) \leq k\rho(x, y)$ , where 0 < k < 1.

Banach gave the following contraction principle in 1922.

**Theorem 2.1** (Banach Contraction Principle [4]) Let  $(X, \rho)$  be a complete metric space and  $f: X \to X$  a mapping such that

$$\rho(fx, fy) \le \alpha \rho(x, y),$$

for all  $x, y \in X$  and  $0 < \alpha < 1$ . Then f has a unique fixed point in X.

**Definition 2.4 (Kannan type mapping** [12, 13]): Let  $(X, \rho)$  be a metric space and f a mapping on X. The mapping f is called a Kannan type mapping if there exists  $0 \le \alpha < \frac{1}{2}$  such that

$$\rho(fx, fy) \le \alpha[\rho(x, fx) + \rho(y, fy)], \text{ for all } x, y \in X.$$

**Definition 2.5 (Compatible mappings** [11]): Let  $(X, \rho)$  be a metric space. The mappings  $f, g: X \longrightarrow X$  are said to be compatible if

 $\lim_{n \to \infty} \rho(fgx_n, gfx_n) = 0, \text{ where } \{x_n\} \in X \text{ and } \lim_{n \to \infty} fx_n = \lim_{n \to \infty} gx_n = x, \text{ for some } x \in X.$ 

**Definition 2.6 (Weakly compatible mappings** [11]): Let  $(X, \rho)$  be a metric space and f, g two self-maps on the set X, that is,  $f, g : X \longrightarrow X$ . The self-maps f and gare said to be weakly compatible if they commute at their coincidence point, that is, if fx = gx, for some  $x \in X$ , then fgx = gfx.

**Definition 2.7 (Altering distance function** [14]): A function  $h : [0, \infty) \to [0, \infty)$  is called an altering distance function if

- (i) h is monotonic increasing, continuous and
- (ii) h(t) = 0, if and only if t = 0.

The result noted in the following lemma will be used in deriving the fixed point result. For proof of the lemma, refer to the respective work in which it appears.

**Lemma 2.1** [1] Let f and g be two weakly compatible self-maps on the set X. If f and g have a unique point of coincidence w = fx = gx, then w is the unique common fixed point of f and g.

### 3. The Main Result

**Theorem 3.1** Let a, b, c, d be four continuous functions from  $[0, \infty)$  into [0,1) which satisfy the property a(t) + b(t) + c(t) + d(t) < 1, for all  $t \in [0, \infty)$ . Also let  $(X, \rho)$  be a metric space,  $\psi$  an altering distance function and  $f : X \to X$ ,  $g : X \to X$  two selfmappings, such that  $f(X) \subseteq g(X)$ , where g(X) is a complete subspace of X. If for all  $x, y \in X$ , f and g satisfy the following inequality:

$$\psi(\rho(fx, fy)) \le a(\rho(gx, gy))\psi(\rho(gx, gy)) + b(\rho(gx, gy))\psi(\rho(gx, fx))$$

(1) 
$$+c(\rho(gx,gy))\psi(\rho(gy,fy)) + d(\rho(gx,gy))\sqrt{\psi(\rho(gx,fy))}\sqrt{\psi(\rho(gy,fx))},$$

then f and g have a unique point of coincidence in X. Moreover, if f and g are weakly compatible, f and g have a unique common fixed point in X.

**Proof:** Let  $x_1$  be a point of X. Since  $f(X) \subseteq g(X)$ , we define  $gx_{n+1} = fx_n = y_n$  and  $\tau_n = \rho(y_{n-1}, y_n)$ , for all  $n = 1, 2, \dots$ .

We first prove that f and g have a coincidence point. We may take  $\tau_n > 0$ , for all n, because if  $\tau_n = 0$ , there is a coincidence point of f and g.

Substituting  $x = x_n$  and  $y = x_{n+1}$  in (1), we get

(2)  

$$\psi(\tau_{n+1}) \leq a(\tau_n)\psi(\tau_n) + b(\tau_n)\psi(\tau_n) + c(\tau_n)\psi(\tau_{n+1}) + d(\tau_n)\sqrt{\psi(\rho(y_{n-1}, y_{n+1}))}\sqrt{\psi(\rho(y_n, y_n))} .$$

Hence we get

(3) 
$$\psi(\tau_{n+1}) \le \frac{a(\tau_n) + b(\tau_n)}{1 - c(\tau_n)} \psi(\tau_n).$$

Since a(t) + b(t) + c(t) + d(t) < 1, implies  $\frac{a(t)+b(t)}{1-c(t)} < 1$ , for all  $t \in [0, \infty)$ , we get

(4) 
$$\psi(\tau_{n+1}) < \psi(\tau_n).$$

Since  $\psi$  is an increasing function we get from (4), that  $\{\tau_n\}$  is a monotone decreasing sequence of non-negative real numbers. Hence there exists a  $\tau \ge 0$  such that

(5) 
$$\lim_{n \to \infty} \tau_n = \tau.$$

Letting  $n \to \infty$  in (3), using continuity of  $\psi$ , we have

(6) 
$$\psi(\tau) \le \frac{a(\tau) + b(\tau)}{1 - c(\tau)} \psi(\tau).$$

Since  $\frac{a(\tau)+b(\tau)}{1-c(\tau)} < 1$ , (6) is a contradiction unless  $\tau = 0$ . Therefore,

(7) 
$$\lim_{n \to \infty} \tau_n = \lim_{n \to \infty} \rho(y_{n-1}, y_n) = 0$$

We now prove that  $\{y_n\}$  is a Cauchy sequence. Suppose it is not. Then there exists  $\varepsilon > 0$ for which we can find sub-sequences  $\{y_{m(k)}\}$  and  $\{y_{n(k)}\}$  of  $\{y_n\}$  with n(k) > m(k) > ksuch that

(8) 
$$\rho(y_{m(k)}, y_{n(k)}) \ge \varepsilon.$$

Further, corresponding to m(k), we can choose n(k) in such a way that it is the smallest integer with n(k) > m(k) and satisfies (8). Then

(9) 
$$\rho(y_{m(k)}, y_{n(k)-1}) < \varepsilon.$$

Let  $s_n = \rho(y_{n(k)}, y_{m(k)})$ , for all  $n \ge 1$ . Then we get

(10) 
$$\varepsilon \leq s_n \leq \rho(y_{n(k)-1}, y_{n(k)}) + \rho(y_{n(k)-1}, y_{m(k)}) < \tau_{n(k)} + \varepsilon.$$

Letting  $k \to \infty$  in (10) we get

(11) since 
$$\lim_{n \to \infty} \tau_n = 0$$
, then  $\lim_{k \to \infty} s_n = \varepsilon$ .

Note that  $k \to \infty$  implies  $n \to \infty$ .

Also from triangular inequality we get, for all  $n \ge 0$ ,

(12) 
$$-\tau_{n(k)+1} - \tau_{m(k)+1} + s_n \le \rho(y_{n(k)+1}, y_{m(k)+1}) \le \tau_{n(k)+1} + \tau_{m(k)+1} + s_n.$$

Letting  $k \to \infty$  in (12) we get

(13) 
$$\lim_{k \to \infty} \rho(y_{n(k)+1}, y_{m(k)+1}) = \varepsilon.$$

Substituting  $x = x_{n(k)+1}$  and  $y = x_{m(k)+1}$  in (1), we get

(14)  

$$\psi(\rho(y_{n(k)+1}, y_{m(k)+1})) \leq a(s_n)\psi(s_n) + b(s_n)\psi(\tau_{n(k)+1}) + c(s_n)\psi(\tau_{m(k)+1}) + d(s_n)\sqrt{\psi(\rho(y_{n(k)}, y_{m(k)+1}))}\sqrt{\psi(\rho(y_{m(k)}, y_{n(k)+1}))}.$$

Again applying triangle inequality and monotone property of  $\psi$  in (14), we get

(15) 
$$\psi(\rho(y_{n(k)+1}, y_{m(k)+1})) \leq a(s_n)\psi(s_n) + b(s_n)\psi(\tau_{n(k)+1}) + c(s_n)\psi(\tau_{m(k)+1}) + d(s_n)\sqrt{\psi(s_{n+1} + \tau_{n(k)+1})}\sqrt{\psi(s_{n+1} + \tau_{m(k)+1})}.$$

Letting  $k \to \infty$  in (15) using continuities of a, b, c, d and  $\psi$ , we get

(16) 
$$\psi(\varepsilon) \le \{a(\varepsilon) + d(\varepsilon)\}\psi(\varepsilon) < \psi(\varepsilon).$$

Since  $a(\varepsilon) + d(\varepsilon) < 1$ , (16) is a contradiction. Therefore  $\{y_n\}$  is a Cauchy sequence in g(X). Since g(X) is complete, there exists a  $z \in g(X)$  such that

(17) 
$$\lim_{n \to \infty} y_n = \lim_{n \to \infty} g x_{n+1} = \lim_{n \to \infty} f x_n = z$$

Since  $z \in g(X)$ , we can find  $p \in X$  such that gp = z. Now, putting  $x = x_{n+1}$  and y = p in (1), we have  $\psi(\rho(fx_{n+1}, fp)) \leq a(\rho(gx_{n+1}, gp))\psi(\rho(gx_{n+1}, gp)) + b(\rho(gx_{n+1}, gp))\psi(\rho(gx_{n+1}, fx_{n+1}))$   $+ c(\rho(gx_{n+1}, gp))\psi(\rho(gp, fp))$   $+ d(\rho(gx_{n+1}, gp))\sqrt{\psi(\rho(gx_{n+1}, fp))}\sqrt{\psi(\rho(gp, fx_{n+1}))}$   $= a(\rho(gx_{n+1}, z))\psi(\rho(gx_{n+1}, z)) + b(\rho(gx_{n+1}, z))\psi(\rho(gx_{n+1}, fx_{n+1}))$   $+ c(\rho(gx_{n+1}, z))\psi(\rho(z, fp))$  $+ d(\rho(gx_{n+1}, z))\sqrt{\psi(\rho(gx_{n+1}, fp))}\sqrt{\psi(\rho(z, fx_{n+1}))}.$ 

Letting  $n \to \infty$  in the above inequality, using (7), (17) and the properties of a, b, c, dand  $\psi$ , we have

$$\psi(\rho(z, fp)) \le c(0)\psi(\rho(z, fp)).$$

Since c(0) < 1, it follows that  $\psi(\rho(z, fp)) = 0$  which implies that  $\rho(z, fp) = 0$ , that is, z = fp.

Therefore, we get that

$$z = fp = gp$$

Hence p is a coincidence point and z is a point of coincidence of f and g.

We next establish that the point of coincidence is unique. For this, assume that there exists another point q in X such that  $z_1 = fq = gq$  and suppose that  $z \neq z_1$ . Then, for x = p and y = q, we have by (1),

$$\begin{split} \psi(\rho(fp, fq)) &\leq a(\rho(gp, gq))\psi(\rho(gp, gq)) + b(\rho(gp, gq))\psi(\rho(gp, fp)) + c(\rho(gp, gq))\psi(\rho(gq, fq)) \\ &\quad + d(\rho(gp, gq))\sqrt{\psi(\rho(gp, fq))}\sqrt{\psi(\rho(gq, fp))} \\ &= a(\rho(z, z_1))\psi(\rho(z, z_1)) + d(\rho(z, z_1))\psi(\rho(z, z_1)). \\ &= [a(\rho(z, z_1)) + d(\rho(z, z_1))]\psi(\rho(z, z_1)). \end{split}$$

Since  $a(\rho(z, z_1)) + d(\rho(z, z_1)) < 1$ , it follows that  $\psi(\rho(fp, fq)) < \psi(\rho(z, z_1))$ , which is a contradiction.

Therefore, z is the unique point of coincidence of f and g.

Now, if f and g are weakly compatible, by Lemma 2.1, z is the unique common fixed point of f and g. Hence the proof is completed.

#### 4. Some Consequences

Let us assume  $\psi(x) = x$  and g(x) = x in Theorem 3.1. Hence by our construction g(X) = X and then  $(X, \rho)$  is a complete metric space. Then taking b = c = d = 0 and  $a(t) = \alpha$ , where  $\alpha$  is a constant with  $0 < \alpha < 1$ , in Theorem 3.1, we get the Banach Contraction Principle [4].

**Theorem 4.1** Let  $(X, \rho)$  be a complete metric space and  $f : X \to X$  a mapping such that

$$\rho(fx, fy) \le \alpha \rho(x, y),$$

for all  $x, y \in X$  and  $0 < \alpha < 1$ . Then f has a unique fixed point in X.

Considering g(x) = x, for all  $x \in X$ , b = c = d = 0 and  $a(t) = \alpha$ , where  $\alpha$  is a constant with  $0 < \alpha < 1$ , in Theorem 3.1, we get the following theorem, which is proved by Khan et al. (Theorem 2 in [14]).

**Theorem 4.2** Let  $(X, \rho)$  be a complete metric space,  $\psi$  an altering distance function and also let  $f : X \to X$  be a self-mapping which satisfies the following inequality:

$$\psi(\rho(fx, fy)) \le \alpha \psi(\rho(x, y))$$

for all  $x, y \in X$  and for some  $0 < \alpha < 1$ . Then f has a unique fixed point.

Considering g(x) = x, for all  $x \in X$ , d = 0 and  $a(t) = \alpha, b(t) = \beta, c(t) = \gamma$ , where  $\alpha, \beta, \gamma$  are constants with  $0 \le \alpha + \beta + \gamma < 1$ , in Theorem 3.1, we get the theorem of Skof [23].

**Theorem 4.3** Let  $(X, \rho)$  be a complete metric space and  $\psi$  an altering distance function. Also let  $f: X \to X$  be a self-mapping which satisfies the following inequality:

$$\psi(\rho(fx, fy)) \le \alpha \psi(\rho(x, y)) + \beta \psi(\rho(x, fx)) + \gamma \psi(\rho(y, fy)),$$

for all  $x, y \in X$ ,  $0 \le \alpha + \beta + \gamma < 1$ . Then f has a unique fixed point.

Considering g(x) = x, for all  $x \in X$  in Theorem 3.1, we get the following theorem.

**Theorem 4.4** Let a, b, c, d be four continuous functions from  $[0, \infty)$  into [0, 1) satisfying the property a(t) + b(t) + c(t) + d(t) < 1, for all  $t \ge 0$ . Also let  $(X, \rho)$  be a complete metric space,  $\psi$  an altering distance function and  $f : X \to X$  a self-mapping which satisfies the following two properties:

$$\begin{split} \psi(\rho(fx, fy)) &\leq a(\rho(x, y))\psi(\rho(x, y)) + b(\rho(x, y))\psi(\rho(x, fx)) + c(\rho(x, y))\psi(\rho(y, fy)) \\ &+ d(\rho(x, y))\sqrt{\psi(\rho(x, fy))}\sqrt{\psi(\rho(y, fx))}, \end{split}$$

where  $x, y \in X$ . Then f has a unique fixed point.

Considering  $\psi$  and g to be identity mappings, a = d = 0 and  $b(t) = c(t) = \alpha$ , where  $\alpha$  is a constant with  $0 \le \alpha < \frac{1}{2}$ , in Theorem 3.1, we get the theorem of Kannan [12, 13] as follows:

**Theorem 4.5** Let  $(X, \rho)$  be a complete metric space and f be a self-mapping on X. If  $\rho(fx, fy) \leq \alpha[\rho(x, fx) + \rho(y, fy)],$ 

for all  $x, y \in X$  and  $0 \le \alpha < \frac{1}{2}$ , then f has a unique fixed point.

In theorem 3.1, if we take d = 0, b = c and g(x) = x, for all  $x \in X$ , we get the following theorem:

**Theorem 4.6** Let a, b be two continuous functions from  $[0, \infty)$  into [0,1) which satisfy the property a(t) + 2b(t) < 1, for all  $t \ge 0$ . Also let  $(X, \rho)$  be a complete metric space,  $\psi$ an altering distance function and  $f: X \to X$  a self-mapping which satisfies the following property:

$$\psi(\rho(fx, fy)) \le a(\rho(x, y))\psi(\rho(x, y)) + b(\rho(x, y))\{\psi(\rho(x, fx)) + \psi(\rho(y, fy))\},\$$

where  $x, y \in X$ . Then f has a unique fixed point.

In theorem 3.1, if we take b = c and g(x) = x, for all  $x \in X$ , we get the following theorem:

**Theorem 4.7** Let a, b, c be three continuous functions from  $[0, \infty)$  into [0, 1) which satisfy the property a(t) + 2b(t) + c(t) < 1, for all  $t \ge 0$ . Also let  $(X, \rho)$  be a complete metric space,  $\psi$  an altering distance function and  $f : X \to X$  a self-mapping which satisfies the following property:

$$\begin{split} \psi(\rho(fx, fy)) &\leq a(\rho(x, y))\psi(\rho(x, y)) + b(\rho(x, y))\{\psi(\rho(x, fx)) + \psi(\rho(y, fy))\} \\ &+ c(\rho(x, y))\sqrt{\psi(\rho(x, fy))}\sqrt{\psi(\rho(y, fx))}, \end{split}$$

where  $x, y \in X$ . Then f has a unique fixed point.

### 5. Conclusions

In Theorem 3.1, the functions f and g are not necessarily continuous. So result of our theorem is more general compared to some other results in this line of research. It is also a feature of our theorem that in the inequality, there is surd root.

We have given below two examples, one is a continuous case and the other a discontinuous case, which support our theorem.

**Example 5.1** Let X = [0,1] and  $\rho = |x - y|$ , for all  $x, y \in X$ , that is,  $\rho$  is the usual metric defined on X. Then  $(X, \rho)$  is a complete metric space.

Let  $\psi : [0, \infty) \longrightarrow [0, \infty)$  be defined as follows:

 $\psi(t) = t^2$ , for all  $t \in [0, \infty)$ .

Then  $\psi$  has the properties mentioned in Theorem 3.1.

Let  $f, g: X \longrightarrow X$  be defined respectively as follows:

 $fx = \frac{x}{32}$  and  $gx = \frac{x}{4}$ , for all  $x \in X$ .

Then f and g have the required properties mentioned in Theorem 3.1.

Let  $a, b, c, d: [0, \infty) \longrightarrow [0, 1)$  be defined respectively as follows:

 $a(t) = b(t) = \frac{1}{4}$  and  $c(t) = d(t) = \frac{1}{8}$ , for all  $t \in [0, \infty)$ .

Then a, b, c and d have the required properties mentioned in Theorem 3.1.

It can be verified that (3.1) is satisfied for all  $x, y \in X$ . The conditions of Theorem 3.1 are satisfied and it is seen that 0 is the unique point of coincidence and also the unique common fixed point of f and g.

**Example 5.2** Let X = [0,1] and  $\rho = |x - y|$ , for all  $x, y \in X$ , that is,  $\rho$  is the usual metric defined on X. Then  $(X, \rho)$  is a complete metric space.

Let  $\psi : [0, \infty) \longrightarrow [0, \infty)$  be defined as follows:

 $\psi(t) = t^2$ , for all  $t \in [0, \infty)$ .

Then  $\psi$  has the properties mentioned in Theorem 3.1.

Let  $f, g: X \longrightarrow X$  be defined respectively as follows:

$$fx = \begin{cases} 0, & \text{if } 0 \le x \le \frac{1}{2}, \\ \\ \frac{1}{32}, & \text{if } \frac{1}{2} < x \le 1. \end{cases}$$

and

 $gx = \frac{x}{2}$ , for all  $x \in X$ .

Then f and g have the required properties mentioned in Theorem 3.1.

Let  $a, b, c, d: [0, \infty) \longrightarrow [0, \infty)$  be defined respectively as follows:

 $a(t) = d(t) = \frac{1}{8}$  and  $b(t) = c(t) = \frac{1}{4}$ , for all  $t \in [0, \infty)$ .

Then a, b, c and d have the required properties mentioned in Theorem 3.1.

It can be verified that (3.1) is satisfied for all  $x, y \in X$ . The conditions of Theorem 3.1 are satisfied and it is seen that 0 is the unique point of coincidence and also the unique common fixed point of f and g.

Acknowledgement : Indranil Bhaumik acknowledges his father Sadhan Chandra Bhaumik for his help in preparing the manuscript.

#### References

- M. Abbas and G. Jungck, Common fixed point results for noncommuting mappings without continuity in cone metric spaces, J. Math. Anal. Appl., 341, 2008, 416-420.
- [2] G.V.R. Babu and M.V.R. Kameswari, Some common fixed point theorems by altering distances, Proc. Jang. Math. Soc., 6, 2003, 107-117.
- [3] G.V.R. Babu, B. Lalitha and M.L. Sandhya, Common fixed point theorems involving two generalized altering distance functions in four variables, Proc. Jang. Math. Soc., 10(1), 2007, 83-93.
- [4] S. Banach, Sur les oprations dans les ensembles abstraits et leur application aux quations intgrales, Fund. Math., 3, 1922, 133-181.
- [5] B.S. Choudhury and P.N. Dutta, A unified fixed point result in metric spaces involving a two variable function, Filomat, 14, 2000, 43-48.
- [6] B.S. Choudhury, A common unique fixed point result in metric spaces involving generalized altering distances, Math. Com., 10, 2005, 105-100.
- [7] B.S. Choudhury and P.N. Dutta, Common fixed points for fuzzy mappings using generalized altering distances, Soochow J. Math., 31, 2005, 71-81.
- [8] B.S. Choudhury and A. Kundu, A coupled coincidence point result in partially ordered metric spaces for compatible mappings, Non. Anal., 73(8), 2010, 2524-2531.
- [9] P.N. Dutta and B.S. Choudhury, A generalization of contraction principle in metric spaces, Fixed Point Theo. Appl., 2008, 1-8.
- [10] G. Jungck, Commuting maps and fixed points, Amer. Math. Mon., 83, 1976, 261-263.
- [11] G. Jungck, Compatible mappings and common fixed points, Int. J. Math. Mathematical Sci., 9, 1986, 771-779.
- [12] R. Kannan, Some results on fixed point, Bull. Cal. Math. Soc., 60, 1968, 71-76.
- [13] R. Kannan, Some results on fixed point II, Amer. Math. Mon., 76, 1969, 405-408.
- [14] M.S. Khan, M. Swales and S. Sessa, Fixed point theorems by altering distances between the points, Bull. Aust. Math. Soc., 30, 1984, 1-9.
- [15] S.V.R. Naidu, Fixed point theorems by altering distances, Adv. Math. Sci. Appl. 11, 2001, 1-16.
- [16] S.V.R. Naidu, Some fixed point theorems in metric spaces by altering distances, Czec. Math. J., 53, 2003, 205-212.
- [17] H.K. Pathak and R. Sharma, A note on fixed point theorems of Khan, Swaleh and Sessa, Math. Edn., 28, 1994, 151-157.
- [18] K.P.R. Rao, G.V.R. Babu and D.V. Babu, Common fixed point theorem through generalized altering distance functions, Math. Com., 13, 2008, 67-73.

- [19] K.P.R. Sastry and G.V.R. Babu, Fixed point theorems in metric spaces by altering distances, Bull. Cal. Math. Soc., 90, 1998, 175-182.
- [20] K.P.R. Sastry and G.V.R. Babu, Some fixed point theorems by altering distances between the points, Indian J. Pure. Appl. Math., 30(6), 1999, 641-647.
- [21] K.P.R. Sastry and G.V.R. Babu, A common fixed point theorem in complete metric spaces by altering distances, Proc. Nat. Acad. Sci. India., 71(A)(III), 2001, 237-242.
- [22] S. Sessa, On a weak commutativity condition of mappings in fixed point considerations, Publ. Inst. Math. 32, 1982, 149-153.
- [23] F. Skof, Teorema di punti fisso per applicazioni negli spazi metrici, Atti. Accad. Sci. Torino., 111, 1977, 323-329.
- [24] T. Som, Few common fixed point results for compatible mappings, Bull. Cal. Math. Soc., 95(4), 2003, 307-312.